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BEEE (KRE) 2N (3% B#H2438/N) A 226 162 98
T (o< W igEH) 1A (B#ER%218/N) A 7 7 7
&8 (RAXEERRE, BEETHETRE, “BLE, B
|rf§ SRE, BEARE BRERE ERRES 3FZRSD =X 1 1 1
OXxt#ok &
e e =% BEXE B [X 45 X
I =5l il HE EE A HAL ey 5E BE e ey =E
NEBHEARRE (MRAEH. ZIUEHAFHI3LLW B -HmIUT7 75237 46) =X 1 1 1
NEEEBELSAE B ¥199,474kWh B -HITYT 3FZRD =X 1 1 1
EAEREEINE B ¥1915,241kWh ETY 7 R t@® = 1 1 1
mAEE (Br) REBESAE |A¥Fi91,453kWh HTY7 B&18 = 1
Y OBREBELRAE B ¥152,917kWh ETY 7 E&iE =X 1
NEBHEARE (—TELS) |REBELIC. 12kVA mTUT 3EF®D = 1 1 1
AEBHRESSNE (—TERS |8 FH363kWh mTy7 3FLRS = 1 1 1
ABEEAREN (—TELES) |ARMEETA (60W) 1 mTy7 3B®RD = 1 1 1
KIERE
NEKERE T ¢ 75mm, B F19353m3 cB.FHTY7 - -
(GREVNEED) NEKERED22% R emTyT 3EES = 1 1 1
(5 BIEAEED) NEKERED5% ExU7 @ =X 1 1 1
(5 BHY DHH) NEKEREDT3% HTYU7 EHais =% 1
NEKERE (—THLS) |#EBH¢30mm. BFH3m3 mTyT 3FLRS = 1 1 1
M3 EH BRUMOIEICL %S (8% BMEA+1/302AEE, RRUBZAZNICE L]
KRN O,  BEBEICKREBEEOEEXR 2R L (BLeiEr. B, ERUHEZNZENICETE XNtk @izsy  BEHICKEEEOEBEXRZEL (ELeE%2. B, BERUMZNZNICELE

NI

1 28.8%
2 61.0%
M 10.2%
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